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Note : Question Ho. 1 is compulsory. Attempt any four 

questions from question lumbers. 2 to 6. Use well 

illustrated diagrams to support 1/01/1" answers wherecer 

necessary. 

1. 	(a) 	Fill in the blanks with appropriate word : 	5 

(i) Both DNA end polysaccharides are 

stained purple by 

(ii) Parenchyma cells in aquatic plants 

having air cavities between them, 

form a tissue called 

(iii) muscles are immune to 

fatigue. 

(iv) Small hydrophobic protein molecules 
which dissolve in lipid bilayer are 

called 

(v) Two or more layered epithelium 

present in the skin is called 

	 epithelium. 
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(b) 	Select the correct alternative given in 	5 
parenthesis and rewrite the correct 
statements. 
(i) Apoplast is the (extracellular/ 

intracellular) compartment of a plant. 
(ii) Intake of particulate matter by a plasma 

membrane bound vesicles in a cell is 
called (pinocytosis/phagocytosis). 

(iii) The phenomenon of linking of 
neurons (a synapse) is (physical / 
chemical) in nature. 

(iv) The (microtubules/microfibrils) are 
responsible for chromosome movement. 

(v) Thyroxine and insulin are 
(neurotransmitter / hormones). 

	

2. 	Mention whether the following statements are 
true or false and give reason for you answer 
Attempt any five. 	 5x2=10 
(a) Mitochondria have endosymbiotic origin. 
(h) Gel-sol theory explain the amoeboid 

movement. 
(c) Malonate inhibits the activity of succinate 

dehydrogenase irreversibly. 
(d) Proton pumps in mitochondria and 

chloroplasts are identical. 
(e) DNA stores the genetic information which 

is transferred from nucleus to cytoplasm by 
transcribing to the RNA molecules. 

(f) Plasma membrane is fluid mosaic and 
symmetrical. 

	

3. 	(a) Enumerate any three similarities and seven 	5 
differences between prokaryotic and 
eukaryotic cells, 

(b) Draw the kreb's cycle (No explanation 	5 
necessary). 
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4. 	(a) Write a short notes on the structure and 	5 
function of ER or lysosome, 

(b) Substance 'A' has a molecular weight of 
	

5 
80,000 and substance 'B' has a molecular 

lot of 1,50,000. 'A' is soluble in petroleum 

ether and 'B' in acetic acid. 'A' is ±vely 

charged at pH 7.0 and 'B' is - vely charged , 

which of the following methods will you use 

to separate them and why ? 

(i) Gel filtration 

(ii) ion - exchange chromatography 

(iii) Paper chromatogra phy 

(iv) Affinity chromatography 

(v) Centrifugation 

	

5. 	(a) 	Describe regulation of protein synthesis at 
	

5 
transcriptional level. 

(b) 	What is cell-cycle ? Describe different 
	

5 
phases of cell - cycle. 

	

6. 	Write a detailed account of enzymes with regard 	10 

to types mechanism of action, specificity, kinetics 

and allostery. 
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